Plineal
Linear programacion with 2 variables , Z=f(x,y).
It obtains the feasible region determined by the constraints (inequalities) introduced by

the user and the vertexes corresponding to the maximum and/or minimum of the

objective function (also introduced by the user) and a graph of this region. " Laying out ":

(constraints an objective function) and the full exercice (laying out and results) can be
saved , together or separat
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Statement
—
A maker of airplanes produces 3 models: A, B and Cin 2 factofies. He should give to a clien —
airplanes weekly &, 8 B and 24 C. The operation ofthe first fagtory costs 2 million ufday (%) and tha he v
second 1.6 millions. The first factory produces in 1 day; 6 ainglanes A, 2 B and 4 © and the second 2 A,
Band 12 C. How many days per week each factory should ywork to minimize the cost of operation of the v
factories?

1 U= monetary unit
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